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BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37511 87,143 41,743 45,400
RIRET1T 4 11 5 6
RIRET2T 26 58 28 30
AIEET3T 115 389 190 199
RIRET4T 387 1,006 490 516
B 532 1,464 713 751
REH 2,606 6,309 2,959 3,350
L&A 4,149 9,640 4,607 5,033
5E 2,447 5,962 2,890 3,072
B AN 1,230 2,858 1,352 1,506
BERT 1,040 1,692 806 886
BER2T 745 1,464 688 776
BHERST 594 1,237 608 629
g 2,379 4,393 2,102 2,291
BARE 246 658 331 327
= 2,145 5,224 2,468 2,756
hERE 595 1,469 673 796
e 2,276 5,146 2,494 2,652
25 L ET 2,248 5,335 2,550 2,785
B &AL BT 73 164 67 97
HEFILET1T 593 1,340 636 704
HEFILET2T 598 1,383 661 722
HEZFILAT3T 573 1,368 667 701
g 1,837 4,255 2,031 2,224
B & it B Fr ET 631 1,553 760 793
BHEREBET1T 610 1,274 611 663
BHERERET2T 745 1,769 872 897
BHERERETST 774 1,727 800 927
HEFMHET4T 466 1,062 515 547
HEHFMHETST 774 1,676 800 876
HEHFHET6T 829 1,980 953 1,027
HEFRET7T 866 2,056 988 1,068
HERERETST 52 154 71 83
£t| 5116 11,698 5,610 6,088
HEF R FET 1,775 3,952 1,925 2,027
S|EFET1T 565 1,529 770 759
S|EFET2T 747 1,838 882 956
S|EFET3 T 740 1,517 729 788
g 2,052 4,884 2,381 2,503
ERE1T 545 1,337 643 694
EIRET2T 312 785 388 397
EREIST 452 1,297 632 665
EIRETAT 673 1,584 749 835
EIZEIST 469 976 483 493
g 2,451 5,979 2,895 3,084
MEH 2,685 6,131 2,898 3,233
J\THET1T 27 29 7 22
J\THET2T 25 65 33 32
J\THEI3T 59 139 64 75
B 111 233 104 129
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